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@ 9+21cm ® 9v23cm
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BC = 20cm©]1/CBD = 60°°| 2. &

V3

x =20 X sin60° = 20 X —= = 10 V3(cm)




23. 0] 100m ¢ EH o)A Hjo] Tu|E e}t B 7] 7= 60° Frt.
10 2 5 thA] Hlo] Tu|2 Yo Ry, et zho] 97]= 30°
o19iek. o] 7} 10 2 B<F 2 A2l P

D

1

30°
100m

4

"

30°
A B

w

® 50V3 @ 1253 @200\/3

2 3
175V3 2153

w

[\
w

A 30°
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ﬁ=8sm60°=8x‘/7§ = 43 (cm)

CH=12-BH =12-8co0s60°
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AC’=AH’ +CH 0|22

AC” = (4V3)2 + 82 = 112
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o 29olA AC = 5cmolll A
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4 3 -— 15
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OH = 12c0s60° = 6 (km)
~ AH=15-6=9 (km)
ABHA = A ZHzgo| B2

AB = VAH? + BH?
92 + (6 V3)2
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tan 36° = 0.7)
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BC =2tan51° = 2x 1.2 = 2.4 (m)
CD =2tan36° = 2x 0.7 = 1.4 (m)
. BD=BC+CD =24+14=38(m)
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E:: tanh30° B
h:40x§:
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tan 60°

@(7]') tan 60°
@ (2} 40

@ (H) tan60°
® (7h) 203

~&B

(71 ol tan 30° 7} So]7}oF g},

1

h (tan30° -
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2100m’C H

© 25(V3-1)m @ 50m
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® 150m

A
~ \
5| \
/A5 s

1
/

. 0° 45°
100m’C H
tan45° = C—H

X

.. CH = xtan45°
BH = xtan60°
BC=BH-CH = xtan60° — xtan 45°
x(tan 60 ° — tan 45 °) = 100
100

= tan 60 ° — tan 45 °
100




